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	1
	Which of the following is not the purpose of holding companies?
	

	A)
	cost savings through the integration
	

	B)
	to study the activities of other companies
	+

	C)
	 maximum centralization of decision-making processes and control over agents
	

	D)
	 reduction of taxes paid by the firm
	

	E)
	 diversification of production and creation of additional production opportunities
	

	2
	What does the principle-agent theory teach in economics?
	

	A)
	interpersonal relations
	

	B)
	principle-society-state relations  
	

	C)
	principles of strategic interactions between agents
	+

	D)
	opportunities to reduce transaction costs
	

	E)
	principles and areas of agents activities
	

	3
	Who introduced the firm's multidisciplinary structure for the first time?
	

	A)
	M. Jensen and W. Mackling 
	

	B)
	E. Cemberlin and J. Robinson
	

	C)
	 P. Dupont and A. Slown
	+

	D)
	M. Porter and H. Simon
	

	E)
	 O. Williamson and C. Gilbreyt
	

	4
	 How is a voluntary association based on membership of individuals and / or legal entities for the purpose of meeting the material and other needs of its members by combining the property contributions of its members?
	

	A)
	 subsidiary societies 
	

	B)
	closed joint stock companies
	

	C)
	dependent societies 
	

	D)
	cooperative
	+

	E)
	limited liability companies
	

	5
	How many, at least, individuals / or legal entities can be create cooperatives?
	

	A)
	15 
	

	B)
	2
	

	C)
	 5
	+

	D)
	 10 
	

	E)
	 No limits
	

	6
	What is the dividend of the share of the net income of the joint-stock company in the form of payments to shareholders for each ordinary share?
	

	A)
	ordinary share
	+

	B)
	preferred stock
	

	C)
	temporary share
	

	D)
	guaranteed share 
	

	E)
	share
	

	7
	Which of the following is a legally established dividend payment in the form of fixed percentage of the face value of the share to the owners of a share, regardless of the outcome of the Company's business?
	

	A)
	ordinary shares 
	

	B)
	unsecured shares
	

	C)
	temporary shares 
	

	D)
	privileged shares
	+

	E)
	stocks
	

	8
	What percentage of the preference shares cannot exceed the total authorized capital of a joint-stock company?
	

	A)
	30
	

	B)
	25 
	+

	C)
	51
	

	D)
	49 
	

	E)
	75
	

	9
	How are the shares that give their owners the right of preference over other shareholders to acquire the property remaining after the liquidation of the Joint Stock Company and other rights under the terms of such shares issue?
	

	A)
	named share 
	

	B)
	guaranteed share
	

	C)
	privileged share
	+

	D)
	ordinary share
	

	E)
	temporary share
	

	10
	How is a company called, even if another (main) business partnership or community has the ability to determine the decisions made by that company because of its superior participation in the charter capital or under the agreement between them?
	

	A)
	 Limited Liability Company 
	

	B)
	 Compulsory shareholders who have the right to receive dividends but do not vote
	

	C)
	Command Partnership 
	

	D)
	Associated Business Community 
	

	E)
	Subsidiary Business Community 
	+

	11
	Higher governing body of the joint-stock company:
	

	A)
	shareholders who do not receive dividends on shares
	

	B)
	consisting of shareholders having the right to receive dividends but not voting
	

	C)
	general meeting of shareholders with privileged shares 
	

	D)
	Board of directors
	

	E)
	general meeting of its shareholders 
	+

	12
	What does a closed joint stock company mean?
	

	A)
	 a society in which its shares can be privatized independently
	

	B)
	 a company with no restrictions on the number of shareholders
	

	C)
	a joint stock company whose shares are distributed only among its founders or other predefined persons 
	+

	D)
	a society that is not accountable to any state body about the enterprise
	

	E)
	 a society where the shares are distributed only among the founders or can be privatized independently
	

	13
	How is it called a joint stock company whose shares are distributed only among its founders or other predetermined entities?
	

	A)
	Open Joint Stock Company
	

	B)
	 additional liability society
	

	C)
	Closed joint stock company  
	+

	D)
	economic partnerships
	

	E)
	a limited liability company
	

	14
	How are companies called more than 20% of the charter capital of another LLC (or any other participant) or partnerships?
	

	A)
	a subsidiary
	

	B)
	additional liability society
	

	C)
	dependent economic society  
	+

	D)
	a limited liability company
	

	E)
	cooperative
	

	15
	At the expense of which the authorized capital of joint-stock companies is formed?
	

	A)
	is made up of the value of the shares acquired by the shareholders
	

	B)
	is the nominal value of the shares acquired by the shareholders
	+

	C)
	 advances paid by other entities and shares paid by the shareholders 
	

	D)
	through the value of the products purchased by the shareholders of the company 
	

	E)
	the par value of the Company's bonds acquired by the shareholders
	

	16
	16. What is the name of a society where the charter capital under a civil code is divided into a certain number of shares?
	

	A)
	public corporation 
	

	B)
	 joint stock company 
	+

	C)
	full partnership
	

	D)
	limited partnership
	

	E)
	 joint stock company
	

	17
	Participants of a limited liability company are obliged to:
	

	A)
	 are not liable and are at risk of damage to society's activities
	+

	B)
	bear subsidiary responsibility for the value of their yeast, in the same amount as their property, as determined by the charter of the society.
	

	C)
	 are not liable and are at risk of the cost and property of the legacies they have incurred to harm the Company's operations.
	

	D)
	are responsible for their own property in the amount of the value of their yeast, as determined by the charter of the society and the same for all.
	

	E)
	bears responsibility for the risks associated with the activities of the society and the risks to the community.
	

	18
	What is the name of an economic society created by one or more natural and (or) legal entities, in the size of the charter capital constituent agreement?
	

	A)
	 limited liability company 
	+

	B)
	 joint-stock company
	

	C)
	 full partnership 
	

	D)
	 Command partnership 
	

	E)
	 additional liability company
	

	19
	How can a company, such as a business community, be established?
	

	A)
	 Limited Liability Company, Limited Liability Company and Limited Partnership
	

	B)
	Limited Liability Company, Limited Liability Company and Business Partnerships
	

	C)
	Limited Liability Company, Limited Liability Company and Joint Stock Company 
	+

	D)
	public entities, joint stock companies and joint stock companies
	

	E)
	Limited Liability Company, Limited Liability Company and Full Partnerships
	

	20
	Complete the statement: "The charter capital of the partnerships and the founders (participants) of the economic societies ..."
	

	A)
	non-profit organizations
	

	B)
	 commercial organizations
	+

	C)
	public entities are legal entities
	

	D)
	family farms
	

	E)
	legal entities whose goals are to engage in charity
	

	21
	In what two ways can commercial legal entities, or business firms, be created?
	

	A)
	economic associations and business partnerships
	

	B)
	a full partnership and a limited liability company
	

	C)
	limited partnerships and business partnerships
	

	D)
	economic partnerships and economic societies  
	+

	E)
	full partnership and economic societies
	

	22.
	22. What kinds of legal entities can be created depending on the purpose and character of their activity?
	

	A)
	 physical person - entrepreneur; state-owned enterprises; joint stock companies
	

	B)
	 non-governmental organizations; state slogans; commercial legal entities
	

	C)
	commercial legal entities; non-commercial legal entities; legal entities 
	+

	D)
	legal entities; state companies; commercial companies
	

	E)
	non-commercial legal entities; government agencies; joint stock companies
	

	23
	One of the signs of the legal entity is invalid:
	

	A)
	a person who participates in legal relations on his or her own behalf 
	+

	B)
	to acquire and exercise property and personal non-property rights on its behalf
	

	C)
	have the right to assume duties, to sue or be sued in court
	

	D)
	a specially created body that has its own property
	

	E)
	bears responsibility for their obligations with the property it owns
	

	24
	Who is an individual under the Civil Code?
	

	A)
	a lawyer representing the firm, not on their own behalf, in legal relations
	

	B)
	a person who participates in legal relations on his or her own behalf
	+

	C)
	business entity with a bank account
	

	D)
	young people with higher education and skills with higher education
	

	E)
	individual acting as a legal person
	

	25
	An entrepreneur without a legal entity (i.e. an individual entrepreneur):
	

	A)
	bears no responsibility for its assets for its obligations under this activity
	

	B)
	bears responsibility for their obligations in the firm
	

	C)
	bears responsibility for the obligations associated with this activity, not from the property itself, but from the funds borrowed from banks.
	

	D)
	is responsible for all of its property for the obligations related to this activity 
	+

	E)
	bears all responsibility for the obligations of its own and its partners with all its property;
	

	26
	According to the legislation, how many forms of entrepreneurial activity can be carried out?
	

	A)
	2 
	+

	B)
	1
	

	C)
	4
	

	D)
	5
	

	E)
	3
	

	27
	The following are some of the issues that a person has obtained in the form of entrepreneurship, which he or she declares in public (i.e, the state and society). What is wrong with them?
	

	A)
	his / her intention to make a profit (income) from engaging in unlawful economic activity;
	

	B)
	he works not only for public interest, but for personal gain
	+

	C)
	carry out its activities in accordance with existing laws and regulations in the country and comply with laws
	

	D)
	adequately fulfills its obligations to the state, society and partners during its business activities
	

	E)
	understands the risks involved in setting up a business and is prepared for such risks
	

	28
	Joint Stock Company:
	

	A)
	enterprise is an enterprise created by one or more natural and (or) legal entities, with the authorized capital divided into shares in the amount determined by the constituent agreement.
	

	B)
	 is an enterprise created on the basis of voluntary agreement of individuals and (or) legal entities, which forms the charter capital for the purpose of carrying out economic activities.
	+

	C)
	agencies engaged in activities of national or public importance
	

	D)
	is an enterprise created solely on the basis of voluntary agreement of legal entities, which forms the charter capital by means of a share capital to carry out economic activities.
	

	E)
	is a joint-stock enterprise owned by a citizen or his family members, unless otherwise stated in the agreement.
	

	29
	These are one of the ways to solve the Principle-agent problem:
	

	A)
	termination of employment with agents
	

	B)
	optimal providing an optimal contract for the agent and setting up a board of directors at the firm
	+

	C)
	reducing the number of agents
	

	D)
	increasing the number of agents and enhancing control
	

	E)
	reduce accountability and transparency and create divisions among agents
	

	30
	How is the code of regulations and codes of conduct that reflects the peculiarities of the legal regulation of business relations with the participation of entrepreneurs and other business entities in the country?
	

	A)
	 business environment
	

	B)
	 institutional aspect
	

	C)
	business legislation 
	+

	D)
	regulatory and Legal Framework
	

	E)
	favorable investment climate
	

	31
	One of the key factors that increase the efficiency of firms and markets by allowing them to save on transaction costs is:
	

	A)
	a well-established fair legal system and legal environment 
	+

	B)
	improper legal system
	

	C)
	corrupt management system
	

	D)
	 a system of bureaucratic management and individual rules
	

	E)
	 fair legal system and unfavorable business environment
	

	32
	 How are the profits from the firm's activities distributed in societies?
	

	A)
	distributed in several directions
	

	B)
	in two places - Consumer and savings fund
	

	C)
	according to their shares or shares among the participants
	+

	D)
	taxes are directed to the state budget
	

	E)
	divided equally
	

	33.
	How are the constituent property (or charter capital) of a company formed in societies?
	

	A)
	by placing shares or issuing bonds
	

	B)
	in two places - consumer and savings fund
	

	C)
	by selling shares or issuing shares
	

	D)
	through the issue of shares or the issuance of shares  
	+

	E)
	way of selling shares or paying dividends
	

	34
	Complete the phrase "Society is a form of business organization, as a rule ..."
	

	A)
	management is centralized 
	

	B)
	only profit is considered
	

	C)
	property and management are separated 
	+

	D)
	double taxation is applied 
	

	E)
	property and management are indivisible
	

	35
	 What are the names of firms that are created jointly by several people and governed according to the form of founders' participation?
	

	A)
	joint venture 
	+

	B)
	individual firm
	

	C)
	full liability company 
	

	D)
	public corporations
	

	E)
	limited liability company
	

	36
	If one or more of the founders fails to fulfill their obligations, how is the transfer of an ineligible part of the liability to other participants in the prescribed manner?
	

	A)
	joint liability
	

	B)
	collective liability
	

	C)
	limited liability 
	

	D)
	disclaimed liability
	

	E)
	subsidiary liability 
	+

	37
	The property responsibility of the entrepreneur, in 2 forms:
	

	A)
	limited liability and enhanced liability
	

	B)
	collective responsibility and personal responsibility
	

	C)
	joint responsibility and personal responsibility 
	

	D)
	full responsibility and shared responsibility
	

	E)
	full liability and limited liability 
	+

	38
	How do people benefit from their organizational skills and abilities?
	

	A)
	working as an employee in our business
	

	B)
	 by working only in the system of public administration
	

	C)
	isolation from society
	

	D)
	doing business or managing  
	+

	E)
	by creating personal consumption items for themselves
	

	39
	Organizational skills and abilities of a person:
	

	A)
	one of the main economic resources that households own 
	+

	B)
	exclusively in universities
	

	C)
	inadequate resources
	

	D)
	a resource that households do not have
	

	E)
	is created by the state
	

	40
	What are the factors that make the firm's macroeconomics understandable?
	

	A)
	the field and market, the stage of development of the firm, the intensity of market competition in the field, and the factors of competition
	

	B)
	technical and technological, environmental and legal factors
	

	C)
	political, economic, socio-cultural, scientific and technical, technological, environmental and legal environment; 
	+

	D)
	intensity of market competition in the field and competition, political, economic, socio-cultural, scientific and technical and technological factors
	

	E)
	intensity of market competition in the field of activity of the firm, political and economic and legal factors
	

	41
	What else is called the "driving force of competition"?
	

	A)
	C.Gelbreyt's  Corporation Model
	

	B)
	Darwin's Theory of Evolution
	

	C)
	 O. Williamson's Economic Institutions of Capitalism
	

	D)
	Porter's five forces 
	+

	E)
	invisible Hand by A. Smith
	

	42
	What model is used by the firm in the area of analysis (microfluidic analysis)?
	

	A)
	from the firm's contract model
	

	B)
	the firm's principal-agent model
	

	C)
	from C.Gelbreytin's corporate model
	

	D)
	management theory of the firm.
	

	E)
	Model From the “Competitive driving forces” model 
	+

	43
	What are the microfinance factors of a firm's operations?
	

	A)
	the area and market in which the firm operates, the stage of development of the industry, the intensity of market competition in the field and the factors of competition  
	+

	B)
	 intensity of market competition in the field of activity of the firm, political, economic and legal factors
	

	C)
	field and market, scientific, technical and technological, environmental and legal factors of activity of the firm
	

	D)
	intensity of market competition in the field and competition, political, economic, socio-cultural, scientific, technical and technological factors.
	

	E)
	  political, economic, socio-cultural, scientific, technical and technological, environmental and legal factors
	

	44
	What explains the firm's investment (cost) model?
	

	A)
	funds use trends 
	+

	B)
	distribution of profits
	

	C)
	consumer segmentation
	

	D)
	economic activities of the firm
	

	E)
	profit generation 
	

	45
	What does the firm's financial model explain?
	

	A)
	profit generation
	

	B)
	consumer segmentation
	

	C)
	profit distribution 
	+

	D)
	use of common funds
	

	E)
	economic activities of the firm
	

	46
	What does the firm's market model explain?
	

	A)
	profit generation 
	+

	B)
	 use of firm's funds
	

	C)
	 economic activities of the firm
	

	D)
	consumer segmentation
	

	E)
	distribution of profits
	

	47
	What kind of entrepreneurial theory is true for the firm's entrepreneurial theory?
	

	A)
	large
	

	B)
	 alliance
	

	C)
	joint
	

	D)
	small 
	+

	E)
	medium
	

	48
	What does the Y.Shumpeter firm's financial model explain?
	

	A)
	product; technology; sales markets; transaction costs; after-sales services
	

	B)
	product; technology; sales markets; raw materials, materials and semi-finished products; organizational principles and structures.
	+

	C)
	product; state regulation of prices; sales markets; concentration; organizational principles and structures
	

	D)
	firm; to plan; raw materials; materials and semi-finished products; organizational principles and structures
	

	E)
	product; technology; price; raw materials, materials and semi-finished products; Salary
	

	49
	What part of the economy differs from the corporation model of C. Gelbreyt?
	

	A)
	 firm and planned economy
	

	B)
	market and planned economy
	+

	C)
	fixed costs and planned economy
	

	D)
	the projected and planned economy
	

	E)
	production and planned economy
	

	50
	Which firm theory is the C. Gelbreyt's corporation model of considered?
	

	A)
	business concept of the firm
	

	B)
	managerial theory of the firm
	

	C)
	the firm's behavioral (bihyviorist) theory
	

	D)
	the firm's evolution theory.
	

	E)
	institutional theory of the firm 
	+

	51
	The theory of the firm's principal-agent model is based on which theory
	

	A)
	business concept of the firm
	

	B)
	institutional theory of the firm
	+

	C)
	the firm's behavioral (bihyviorist) theory
	

	D)
	the firm's evolution theory.
	

	E)
	managerial theory of the firm
	

	52
	What theory did M. Jensen and V. Mackling develop in "Theory of Management: Management Behavior, Agent Expenditures, and Property Structure"
	

	A)
	the firm's contract model theory
	

	B)
	the firm's business concept
	

	C)
	management theory of the firm
	

	D)
	principle-agent theory of the firm 
	+

	E)
	C.Gelbreyt's Theory of the Corporate Model
	

	53
	The knowledge and skills of the programmer, know-how, etc., with comprehensive information about the software created for a particular firm, what is being considered?
	

	A)
	depreciable assets
	

	B)
	total assets
	

	C)
	specific assets 
	+

	D)
	fixed assets
	

	E)
	rental assets
	

	54
	What are the resources for which the firm's internal use is valued more than its use outside the firm?
	

	A)
	fixed assets
	

	B)
	specific assets
	+

	C)
	production assets
	

	D)
	total assets
	

	E)
	working capital
	

	55
	What are resources that are valued equally in terms of market and firm use?
	

	A)
	total assets 
	+

	B)
	specific assets
	

	C)
	fixed assets
	

	D)
	production assets
	

	E)
	fixed assets
	

	56
	What is the "black box" in neoclassical theory?
	

	A)
	firm 
	+

	B)
	turnover costs
	

	C)
	consumer
	

	D)
	market
	

	E)
	intermediaries
	

	57
	What remains in Williamson's theory as a "black box"?
	

	A)
	street market
	

	B)
	market 
	+

	C)
	cost of product
	

	D)
	buyer
	

	E)
	seller
	

	58
	Searching, collecting and evaluating potential partner information, negotiating and concluding contracts, as well as ensuring compliance with such agreements - what are these costs?
	

	A)
	transaction costs 
	+

	B)
	production costs
	

	C)
	fixed costs
	

	D)
	variable costs
	

	E)
	sales costs
	

	59
	Which model of the firm is most popular in the neo-institutional approach?
	

	A)
	firm contract model 
	+

	B)
	C.Gelbreyt's Corporation Model
	

	C)
	management theory of the firm
	

	D)
	principle-agent model of the firm
	

	E)
	business concept of the firm
	

	60
	What are the transaction costs?
	

	A)
	costs associated with the transfer and protection of rights 
	+

	B)
	production and sales costs
	

	C)
	expenses incurred in connection with Ezekiel
	

	D)
	advertising costs
	

	E)
	expenses related to production modernization
	

	61
	They call the neoclassical approach to the firm:
	

	A)
	“green box” model
	

	B)
	black box model
	+

	C)
	the "box" model
	

	D)
	“red box” model
	

	E)
	“yellow box” model
	

	62
	In the neoclassical theory, a firm image of a company appears. This is explained as follows:
	

	A)
	transaction costs are collected at its entrance, and ready-made products at the exit
	

	B)
	resources (production factors) are collected at its entrance and raw materials and semi-finished products are output
	

	C)
	resources are collected at its entrance and finished products are output 
	+

	D)
	production factors are collected at its entrance, and labor resources at the exit.
	

	E)
	finished products are collected at its entrance and production factors at its output
	

	63
	In the neoclassical theory, a firm image of a company appears. This is explained as follows:
	

	A)
	transaction costs are collected at its entrance, and ready-made products at the exit
	

	B)
	resources are collected at the entrance, and the output is ready
	

	C)
	resources (production factors) are collected at its entrance and raw materials and semi-finished products
	+

	D)
	production factors are collected at its entrance, and labor resources at the exit.
	

	E)
	finished products are collected at its entrance and production factors at its output
	

	64
	In the neoclassical theory, what function does a firm perform as a system that converts primary resources into finished products?
	

	A)
	sales
	

	B)
	production
	+

	C)
	control
	

	D)
	forecasting
	

	E)
	marketing
	

	65
	How does a firm approach to neoclassical theory?
	

	A)
	the company is technologically approachable and prevails over transaction costs
	

	B)
	the firm is a manufacturing unit and is treated as a market research entity to sell its products
	

	C)
	the firm is a manufacturing unit and is treated technologically 
	+

	D)
	the firm is a manufacturing unit and is treated as having transaction costs
	

	E)
	the company is approached in terms of increasing production or sales in the market.
	

	66
	What is the most dominant position in explaining the firm's creation and development, despite the various approaches?
	

	A)
	behavioral
	

	B)
	ownership
	

	C)
	institutional
	+

	D)
	evolution
	

	E)
	managerial
	

	67
	Who won the Nobel Prize in economics in 1991 for proving the existence of transaction costs and developing the theory of transaction costs?
	

	A)
	V. Mackling
	

	B)
	M.Porter
	

	C)
	R. Schmalenzi
	

	D)
	R.Coase
	+

	E)
	M. Censen
	

	68
	Also, what well-known theory of the firm's theory came into being in 1937 by R.Coase ?
	

	A)
	The nature of the firm
	+

	B)
	“Agribusiness and Food Security”
	

	C)
	The book “Trends and Features of Entrepreneurship Development in Regions”
	

	D)
	The work “Issues of regulating entrepreneurship”
	

	E)
	The Economic Mechanism of Effective Activity of Economic Entities
	

	69
	What new expenditure group did R.Coase prove to be quite different from the cost of production?
	

	A)
	the full cost of the product
	

	B)
	transaction costs
	+

	C)
	indirect costs
	

	D)
	  advertising costs
	

	E)
	direct costs
	

	70
	Also, who first proposed the theory of the firm?
	

	A)
	O. Williamson
	

	B)
	M. Censen
	

	C)
	R.Coase 
	+

	D)
	R. Schmalenzi
	

	E)
	V. Mackling
	

	71
	What theory of E. Cemberly and J. Robinson has broadened the firm's outlook?
	

	A)
	model of the "driving forces of competition"
	

	B)
	network theory
	

	C)
	imperfect and monopoly competition theory 
	+

	D)
	institutional economic theory
	

	E)
	the theory of evolution
	

	72
	In what economic theory is the firm considered as a manufacturing unit operating in a competitive environment, converting its initial resources into finished products and having complete market information?
	

	A)
	in classical (neoclassical) economic theory 
	+

	B)
	the concept of firm evolution
	

	C)
	institutional economic theory
	

	D)
	the firm's network concept
	

	E)
	macroeconomic theory
	

	73
	According to the economic resource turnover model, the household produces and supplies the goods and services it needs:
	

	A)
	insurance society
	

	B)
	firms  
	+

	C)
	public organizations
	

	D)
	 charitable societies
	

	E)
	the state
	

	74
	What is determined on the basis of the mutual benefit of the parties involved in the barter in a free exchange
	

	A)
	sales
	

	B)
	offer
	

	C)
	production
	

	D)
	price
	+

	E)
	demand
	

	75
	What is the large limitation of its supply in terms of the amount of demand for economic resources, and what is the reason for its creation?
	

	A)
	 demand
	

	B)
	price
	

	C)
	the firm
	

	D)
	competition 
	+

	E)
	production
	

	76
	according to the rational behavior hypothesis, what does everyone else do?
	

	A)
	everyone is trying to protect their image
	

	B)
	everyone strives to increase public interest rather than personal interest
	

	C)
	everyone is trying to get the most out of it at a lower cost 
	+

	D)
	everyone strives for higher costs and less income
	

	E)
	everyone is trying to get the most out of their spending
	

	77
	What do economic resources mean?
	

	A)
	workforce; land and natural resources; capital; people's abilities and skills 
	+

	B)
	labor resources, land and natural resources, capital and ecological environment
	

	C)
	workforce, natural resources, capital, natural climatic conditions, human abilities and skills
	

	D)
	land and natural resources, capital, human skills, budget forecasting
	

	E)
	labor resources, political environment, land and natural resources, capital and human skills
	

	78
	According to the market model of economic resources, the simplified economy consists of only two groups of decision makers:
	

	A)
	prices and family farms
	

	B)
	market and entrepreneurs
	

	C)
	supply and demand
	

	D)
	firms and demand
	

	E)
	family farms and firms
	+

	79
	What kind of efficiency requires that the production volume be adequate?
	

	A)
	technological efficiency;
	

	B)
	dynamic efficiency;
	

	C)
	X-efficiency
	

	D)
	allocative efficiency;
	+

	E)
	production efficiency;
	

	80
	What does dynamic efficiency mean?
	

	A)
	understand the effective use of all resources involved in the firm's operations;
	

	B)
	reduce transaction costs and transaction costs involved in production processes and other areas of the firm's operations.
	

	C)
	 means improvement of commodities and production technology over time;  
	+

	D)
	considers the use of available resources in the production process;
	

	E)
	the most efficient use of resources in the country's economy.
	

	81
	In which type of efficiency is the total surplus of society maximized?
	

	A)
	 X-efficiency;
	

	B)
	allocative efficiency
	+

	C)
	production efficiency;
	

	D)
	technological efficiency;
	

	E)
	dynamic efficiency;
	

	82
	Which of the following statements is incorrect?
	

	A)
	X-efficiency addresses the redistribution of resources within the system
	+

	B)
	production efficiency requires that this amount be produced at the lowest cost;
	

	C)
	allocative efficiency requires that the production volume be adequate;
	

	D)
	it is more difficult to compare the relative value of static inefficiency with the value of dynamic inefficiency;
	

	E)
	dynamic efficiency means improving over time commodities and production technology;
	

	83
	Which of the following is not an indicator of a firm's performance?
	

	A)
	profitability of the firm;
	

	B)
	total resource efficiency in the economy; 
	+

	C)
	level of labor productivity
	

	D)
	changing the firm's market power;
	

	E)
	increasing the firm's market share;
	

	84
	Which of the following statements is incorrect?
	

	A)
	accounting and reporting become more complex as the firm's size grows.
	

	B)
	"teamwork" in large firms is given more importance and it is impossible to dedicate and evaluate each employee's contribution;
	

	C)
	information breaches and bureaucratization occur as the number of stages of information transfer and the number of people increase;
	

	D)
	“teamwork” is not given much importance in large firms and it is possible to dedicate and evaluate each employee's contribution; 
	+

	E)
	the head of the firm cannot place production factors more efficiently as the number of transactions increases;
	

	85
	Which of the following is not a factor limiting a firm's size?
	

	A)
	increase in wages. 
	+

	B)
	the effect of distortion of information;
	

	C)
	increase in bookkeeping costs;
	

	D)
	phenomenon of loss of control;
	

	E)
	weakening of motivation;
	

	86
	How are the firm's horizontal boundaries defined?
	

	A)
	mainly based on average variable costs.
	

	B)
	mainly based on transaction costs;
	

	C)
	mainly based on average costs;  
	+

	D)
	mainly based on intra-firm transaction costs;
	

	E)
	mainly based on moderate fixed costs;
	

	87
	What does this inequality mean - C (q1, q2) <C (q1, 0) + C (0, q2)?
	

	A)
	negative effects of diversity;
	

	B)
	positive effect of diversity  
	+

	C)
	negative effect of scale;
	

	D)
	stable effects of diversity;
	

	E)
	positive effect of scale
	

	88
	What happens when there is a positive effect of diversity?
	

	A)
	the costs of joint production of two separate products are greater than the costs incurred in their separate production;
	

	B)
	the cost of joint production of two separate products is smaller compared to the costs incurred during their separate production;  
	+

	C)
	a small firm that produces the same product costs less than a large firm;
	

	D)
	costs incurred in the production of two products are lower than those incurred during joint production;
	

	E)
	the costs of joint production of two separate products are equal to the costs incurred during their separate production;
	

	89
	What is the minimum effective size (MES - minimum effective scale)?
	

	A)
	understands the highest production volumes that can minimize the short-term average production costs of the firm;
	

	B)
	 understands the maximum amount of production that can minimize the firm's long-term marginal costs;
	

	C)
	understands the highest production capacity that can minimize the firm's long-term average production costs;
	

	D)
	understands the minimum production volume that can minimize the firm's long-term average production costs; 
	+

	E)
	understands the minimum production volume that can minimize the firm's short-term production costs
	

	90
	During the scale negative effect:
	

	A)
	the total elasticity coefficients for production factors are equal to 1, that is, α + β = 1
	

	B)
	the total coefficient of elasticity by the factor of production is 0, that is, α + β = 0
	

	C)
	while production factors do not increase, production volumes are steadily declining
	

	D)
	the total elasticity coefficients for production factors are greater than 1, that is, α + β ˃ 1
	

	E)
	is less than the sum of the elasticity coefficients on the production factors, that is, α + β ˂ 1 
	+

	91
	When the scale effect is positive:
	

	A)
	 the elasticity coefficients on the production factors are less than the total, i.e. α + β ˂ 1
	

	B)
	the total elasticity coefficients for production factors are equal to 1, that is, α + β = 1
	

	C)
	The total elasticity coefficients on the production factors are greater than 1, that is, α + β ˃ 1 
	+

	D)
	the total coefficient of elasticity by the factor of production is 0, that is, α + β = 0
	

	E)
	Although production factors do not increase, the volume of production increases
	

	92
	What is the negative effect of scale?
	

	A)
	production volumes decrease as the number of production factors increases
	

	B)
	faster growth of output (production) compared to the increase in production factors
	

	C)
	Increase in production (output) compared to an increase in production factors (less or no increase in output)  
	+

	D)
	Regardless of how and in what proportion the volume of production factors changes, the volume of production is constantly decreasing.
	

	E)
	Observance of adequate stable yields when changing production factors
	

	93
	What is the positive effect of scale?
	

	A)
	regardless of how and in what proportion the volume of production factors changes, the production volume is constantly increasing
	

	B)
	more rapid increase in output (production) compared to the increase in production factors.
	+

	C)
	production volumes increase as the number of production factors decreases
	

	D)
	observance of adequate stable yields when changing production factors
	

	E)
	increase in production (output) compared to an increase in production factors (less or no increase in output)
	

	94
	What is the fixed effect of the scale?
	

	A)
	production volume remains stable regardless of how and in which proportion of production factors change.
	

	B)
	 increase in production (output) compared to an increase in production factors (less or no increase in output)
	

	C)
	observation of the corresponding fixed yields in the scale of production factors (ie, the higher the output, the higher the output).  
	+

	D)
	faster growth of output (production) compared to the increase in production factors
	

	E)
	both production factors and product output remain stable for a long time
	

	95
	What is the scale effect of production?
	

	A)
	 the ratio between the increase in output (production) and the change in the firm's revenues
	

	B)
	the relationship between increased product output (production volume) and increased sales
	

	C)
	ratio between the change of the amount of resources (production factors) used and the change in the volume of production (release)
	+

	D)
	the tendency to reduce the marginal product from the subsequent application of each additional unit of production factor in the short term;
	

	E)
	the ratio between the change in the quantity of one of the production factors used and the change in the volume of production (release).
	

	96
	What is being analyzed by firms using the Long-Term Average Cost Curve (LATC)?
	

	A)
	effectiveness of the business of the firm.
	

	B)
	effective use of production factors in the long run; 
	+

	C)
	efficiency of using production factors in the short term;
	

	D)
	ehort-term demand for production factors;
	

	E)
	the demand for long-term production factors;
	

	97
	Which of the following items refers to variable cost (variable cost)?
	

	A)
	cost of purchase of spare parts;
	+

	B)
	interest paid on the loan;
	

	C)
	rent of buildings;
	

	D)
	depreciation deductions
	

	E)
	license fees;
	

	98
	Which of the following statements regarding the short and long-term periods commonly used in economic analysis of production processes is wrong in economic science?
	

	A)
	the difference between these periods is related to a specific time interval (for example, month, year, etc.): the short-term period is up to 1 year, and the long-term period is more than 1 year. 
	+

	B)
	the difference between these periods is not related to specific time lapses but to resource use and is important in terms of management decisions.
	

	C)
	short-term - a time interval, during which only one production factor involved in the production process changes, and the rest remains constant.
	

	D)
	in the short term, no firm can leave the area or enter the area
	

	E)
	long-term - is a time-consuming period where all the factors involved in production change, and existing firms can leave the area or enter new ones.
	

	99
	Which of the following refers to a firm's internal or invisible expenses?
	

	A)
	material costs
	

	B)
	social insurance payments
	

	C)
	normal profit  
	+

	D)
	a deductions
	

	E)
	labor costs
	

	100
	What are the Irreversible Costs?
	

	A)
	assets with no alternative costs; 
	+

	B)
	assets with alternative costs;
	

	C)
	potential costs of alternative use;
	

	D)
	hidden costs.
	

	E)
	non-refundable costs;
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